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LSE-13 : PLANT DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any 

five questions from questions no. 2 to 8. 

1. (a) Fill in the blanks : 	 5x1=5 

(i) 	tissue provides aeration and 
buoyancy to the aquatic plant. 

(ii) In climbing plants, the leaf or some 
portion of it gets modified as 

(iii) The smallest flowering plants are 

(iv) Potatoes are the modification of 

(v) inflorescence 	is 
characteristic of family Asteraceae. 

LSE-13 
	

1 	 P.T.O. 



(b) Match the items given in column A with 

those given in column B : 	 5x1=5 

Column A 	 Column B 

(i) Pneumatophores 	I. Lamiaceae 

(ii) Indistinguishable 	II. Fungal 

sepals and petals 	association 

(iii) Mycorrhizae 

	

	III. Insectivorous 

plant 

(iv) Bilabiate 	 W. Perianth 

corolla 

(v) Pitcher plant 	V. Mangroves 

(c) Explain the following terms : 	 5x1=5 

(i) Sulphur shower 

(ii) Naked seed 

(iii) Protogynous flower 

(iv) Monadelphous stamens 

(v) Saprophytic plant 

2. (a) Give the botanical name, family and uses of 

opium poppy. 	 6 

(b) Describe the characteristic features of family 

Cucurbitaceae or Euphorbiaceae. 	 6 

LSE-13 	 2 



3. (a) Draw labelled diagrams of any two of the 
following : 	 2x3=6 

(i) L.S. male cone of Pinus 

V.S. of dorsiventral leaf (cellular) 

L.S. of clove bud 

(iv) Megasporophyll of Cycas 

(b) Describe the importance of vegetables and 
gire botanical names of any four vegetables. 	6 

4. (a) Where did tea originate ? Give its botanical 
name, family and the part used. Briefly 
describe the various steps in the processing 
of tea. 

(b) Enumerate the characteristic features of 
Gymnosperms. 	 6 

5. (a) Write notes on any two of the following : 2x3=6 

(i) Simple tissues 

(ii) Economic importance of sugarcane 

(iii) False fruits 

(iv) Pollination and fertilization in Cycas 

(b) With the help of suitable diagrams, describe 
the diagnostic features of Fabaceae or 
Brassicaceae. 
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6. (a) Differentiate between vegetable oils and 

essential oils. Give one example of each. 	6 

(b) Describe the various types of seed 

appendages. 	 6 

7. (a) What is pollination ? What are the two 

types of pollination mechanisms ? Which 

one of them is advantageous and why ? 
	

6 

(b) Give an account of economic importance of 

gymnosperms. 	 6 

8. (a) Discuss the importance of spices and make 

a list of three spices which are obtained 

from fruits. Also give their botanical names. 	6 

(b) Give reasons why angiosperms are 

considered dominant plants on the Earth. 	6 
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